H
Q

o(d X) (um) for PV
S

107

6(0 X) (um)

Ratio

0.95

+

15105 0%

=
o
[l A
[&)]
N
o

Vertex z (cm)

o(d x) for merged vertices (um)

Ratio

=
o

L1.U0

: - HE &

R i1k
. 0 1 i 1
=20 -15 -10 -5 O 5 10 15 20

Vertex z (cm)

—_._-— f \/ || II ﬁ#]é llel II? beIUVV ﬁUIIi
— B3\ i |§°EE$ L‘éu agrégﬁswzsg ngt?ﬁeapeﬁas%fﬁgﬁsgmm

i)
T
14
0.5
%0 =40 =20 0 20 40 60
Vertexz(cm)
>
o
s
T 10°F
El :
=
=
5
° 'l FNEEE AN
g :
o :
1l - N
ot all b
=20 -15 -10 -5 O 5 10 15 20
Vertex z (cm)
s 10°F
g :
s
€
=
~
L
o
10?
o _....I....I....i. [INAAN I P T
;:g ] T Ik I :
R i
-20 —15 -10 - 10 15 20

Vertex z (cm)

a(oy) (Hm)

Ratio

0(0 2) (um)

Ratio

05 10 15 20

10°E

Vertex z (cm)

10°E

50 =15 -10 -5 0 B 10 15 20

Vertex z (cm)

o(d y) for merged vertices (um)

Ratio

o(d z) for merged vertices (um)

Ratio

0 5 10 15 20
Vertex z (cm)

10°E

10%E

1.2

[y

2 SO 3 - SO
0 15 10 -5 0 10 15 20
Vertex z (cm)

0.8}




	Contents
	Page 1


